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[bookmark: _GoBack]a) Sentinel control structure
b) Value of variable sentinel that will end the loop is -999.
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//Program 3.7b|
#include <iostream>
using namespace std;

int main(){
int sentinel = @, weightcnt =
double weight, totWeight = 0;

o;

cout <<"Calculate the average and total weight";

cout << " of 5 student \n\n";

while(sentinel I= -999){

cout << "Enter the weight of a student: ";

cin >> weight;
totWeight += weight;
weightcnt ++;

cout << "Anymore weight? Enter any number to continue OR -999 to stop:

cin >> sentinel;

}

cout << "\n\nYou have "

cout << "\nThe average weight:
cout << "\nThe total weight:

cout << "\n\nknd of Program”
return ;

<< weightCnt <<

weights.";
" << (totueight / weightcnt);
<< totwWeight;
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